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Math 110 Proficiency Test 1.~ 2,500,000 x 400,000
a) 100,000,000,000

Practice Exam Instructions b) 1000000000
c) 10,000,000
d) 1,000,000,000,000
This is a practice exam for the Math 110 Proficiency Test. If your e) none of these
initial mathematics placement is MTH 110, this was due to an ACT

score in mathematics that was not sufficiently high, or not enough 2. The remainder when 894 is divided by 16 is

high school mathematics credits. If you have had a great deal of 2 8 b) 149 12 d) 875 € 55
mathematics in high school, such as an FST course (functions- 3. If 2.85 is subtracted from 30.6, then the result is
statistics-trigonometry) and had a bad day on the ACT, you are a) 021
strongly encouraged to take the MTH 110 proficiency test to see if you b) 33.45
can test out of MTH 110. 3) 21.73
) 5.1
, o _ e) -27.75
Please pay attention to the following instructions:
1 7
» The practice exam is 60 minutes in length — please time 4. 37 + 45
ourself as you take the exam.
! ! a) 7E b) 7£ c) 7§
> You may use a calculator for the practice exam (graphing 16 63 63
calculator preferred) d) 67 e) 7@
16 63

> A legitimate score of 34 or higher on this practice test

suggests that you will be able to pass the MTH 110 5. How many dozens of eggs are

Proficiency Test. Please visit the Testing Services webpage there in 6 boxes, each containing 30 eggs?
at www.gvsu.edu/testserv for testing dates and information, a) 15 b) 12 ¢) 180 d) 5 e) 72
or you can contact the Advising Resource Center at (616)
331-3588.

3 5

6. —+—=
11 6
a) 18 b) = C)Ed)i

55 18 66 = 22
June 2009 e) none of these



10.

11.

12.

13.

14,

15.

Jose can assemble 12 car parts in 40 minutes. How many minutes
would be needed to assemble 9 parts?
1
a) 27 h) 27 ¢ 53§

d 60 e 30

What percent of 48 is 60?
a) 125% b) 25% c) 1.25% d) 80% e) 0.8%
Which of the following best approximates 5.3x 40.2?
a) 2226 b) 231.006 c) 2130.6 d) 213.05

e) 200.6

If 7+3X=-2(X+4),thenx =

-13

a) -5 b -1 ¢ -15 d) - e) —3

The base of a rectangular box measures 3 ft by 6 ft. What is the height
(in feet) of the box if the volume is 72 cubic feet?
a) 90 b) 1296 c¢) 4 d) 12 e) 24

If 0.02x =40, then X =

a) 08 b) 39.98 <) 2000 d) 80 e) 200
3[13-7(5-2)] =

a) 60 b) 18 ¢) -72 d) -24 ¢€) 54
x°y2 . x5y =

3) 2x5y2 b) X10y2 ) x5y3 d) 2x1°y3
E) X10y3

The graph of the equation 3X — 2y + 24 = O crosses the x-axis at x=
a) 12 b) 0 ¢ 8 d -12 e -8

16.

17.

18.

19.

20.

21.

22.

If2x—§:4X—E,thenx:_
2 2
1 7
a 2 b — ¢ — d -2
) ) 5 ) 5 )

€) no solution

Money in a bank triples every 10 years. If $100 is deposited today,
what will its value be after 40 years?
a) $400 b) $1200 c) $6400 d) $8100 e) $24,300
3)=____

a) 6x° b 9x> ¢ 6x> d) 3x° e 9x°

(By? —2+3y)+(y* -4y+7)=__
a) 6y’ —-6y+10

b) 6y*—-y°+5
c) 6y*—-y+5
d 6y*-7y+9

e) none of these

If y=3x*—-3x+5and X =—-2, theny =
a) 11 b) 47 ¢) 23 d) -1 e 35

The height of a triangle is 3 more than its base. If x is the base, then its
area is

a) lx2+3x b) 1x2+§ c) 1x2+§x
2 2 2 2 2

d) x?+3x e) Xx?—3x

One factor of X? +2X—8 is

a) X+2 b) X-8 ¢) x-2 d x-4

e) X+6



29. f Mm% =m+6,thenm=

In a standard coordinate system, the graph of the equation y =2x -5 a) Oor-3 b) 3o0r-2 ¢ -6orl
is d) -3or2 e) -lorb
a) A line falling to the right.
b) A line rising to the right. 30. The perimeter of a rectangle is 240 feet. If the length is 12 feet, then
c) A vertical line. the width is
d A horiz_ontal line. a) 20feet. b) 108feet. c) 114feet. d) 216 feet.
e) Nota line. e) 228 feet.
If x>0, then /25X3_ /9X3 = 31. If5b—2a:2—b,thena=

D X B 4 9 20k & 20X 6 4 a) 1-30 b) 3b-1 c) 6b-1 d) 3b2 e 23b

In a gymnastics meet Kim had a score of 8.1 on vault, 7.5 on beam 2. 16" -16°=
and 7.8 on bars. What must be scored on fioor to hav’e én all aroun'd 9 8 D0 o7 d 3 ¢ 8
aa;ve?%e Ofb7)'7?7.4 9 257 & 78 o 75 33. I;‘]the point (-2, 3) lies on the line whose equation is ax +4y = 2,
thena=
x+4 4 _ D 75 9 2 @8 e s
4  x 3
1 x—-12 1 X—3
a) X b) ix c) 2 d -3 e ' 34. The slope of the line 5X+ 7y —4 =0 is
a)zb)ic)—zd)—E e)ﬂ
(3a-—5b) 2 = 5 7 5 7 7
a) 9a’-15ab+ 25b?
b) 9a’-30ab +25b* 35. 3-2x—3(x—x?)+4]-x=
2 2
c) 3a —5b 2) Ox?-16x+12
d) 9a’-15ab-25b? b) 9x? +16X—12
e) 9a”+25b° ) —9x2-16x+12
d) —9x® +16x+12
If 2X—3 < 4X -3, then e) none of these

a X<-3 b x>0 ¢ x>-1 d x<1
e) x<-1



36. The graph of 5X —3y >15 on a standard window is 12a°b* + 4ab® ~

2ab?
) 8 b 6a’h +4ab® ¢ 6a%’+2b*
) 6a’h®+2b* e) 6a’h? +2b°

b)

X’ -9 x+3_
b [ X244 X+2
! L 2 X—3 ) -3 9 (X—EXX+2)
X+2 2 X“+4
X+3 -X—6
d) e)

X+2 4

To get to work from my home, | travel 8 miles north and then turn

west and travel 6 miles. If I could travel in a straight line from my

B RILLHE L home to_work, how much distance wouId_I save? _
a) 2miles b) 4miles. ¢) 10miles. d) 14 miles.
e) 86 miles.
€)

X+2y=5

The value of x in the solution to the system is
2X—y=5

a) 3 b)) 2 ¢ -1 d 1 e 0

41, 3/27a°y? =

a) 3a’y’ b 9a’y’ ¢ 3ay*}a’ d) 3ay4\ﬂ;5

ML L) b e) gay43/a2

42. One of the solutions to the equation X2 +20 =—4X is

Q) —20 b —-24 ¢ —-2+4i d 2+4i e 4



48. The graph of the parabola y = 3x% +12X +5 is symmetric with

43. If log,16 = X, thenx = respect to the line

Q) 8 b 4 ¢ 14 d) 1 e) 1 a) y=-7 b y=7 ¢ x=-2 d x=2
8 4 e) x=12
44, 1f f(x) =— 254 then f (-2) = 49. Of the following graphs, which best represents the solution of the
15 15 17 inequality 2x + 3 < 5?
a —— b)) — ¢ — d -4 e 4
4 4 4 : :
a) 4

45, If V2X+3—-%x=0,thenx=__

a) 00r_73 b) —1+iv2 ¢ 3 d) -1 e) 3and-1

b) 1
46. t* —8t% +16 factors completely over the reals into
a) (t+2)°(t-2)°
b) (t2 _4)2 O )
o) (t°+4)(t*-4)
d (t*-8)(t*-2)

o (t-2)° £ O

d) 4
47 Ifi—ﬂ—gthenx-
C x4+l x+1 X O—>
-1 7 5
a) =4 b -1 ¢ 4 d — e — e)
) ) ) ) 4 )4



50. Which of the following best represents the graph of X +y =57?

a) ] b) 107
5] ]
! ] ¥ 5]
10 5 i 5 10 1DN51D
4 ¥ T
47 5] g
104 10
c) 10 d) 10
¥ 5 ¥ 5:
-1IV5I T IIIJI LU II5I TT I1ID -1IDI TT I-I5I T IIIJI LU ISI\II.]ID
] ¥ ] ¥
5] 5]
10 10
101
e) 1
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Math 110 Sample Placement Test Answers
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27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
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41.
42.
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44,
45,
46.
47.
48.
49.
50.
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